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Warm Up

Shelly has a total of $32.18 worth of toys to buy. The sales tax in the
state of Rl is 7%.

What is her total amount owed at the register?

3213 32.%
x0.07 4+ 225

2256 33443
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Ex 1 Finding the Part \od
3
a) Find 15% of $160 Hrl:g
X=0.15160 Z |
T rse )
TI&005
b) Find 110% of 80 cases

X=\.\-%0
\x=88 casegl
c) Find 0.4% of 250 patients

Ex 2 Solving for the Whole 2)b.60
I o
a) {3 chairs is 6%.0f what number? 0. Dlo, ? 0 0,

3=0.0b" X ‘
0.0 0.0G

b) 119 students is 15% of what number of students?‘(

C)\&i_/_%/"/o\ohuhai_number is 1027 0&}2“02@@3,
RS

D.085x =02 (=120
0.0%% OOYSU'\
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Ex 3 Finding the Percent

a) 13 mechanics is what percent of 52 mechanics?

P
D= %52 52 [ '500 % %
52 S2 - 104 e

X= 0,25 —> - ;L%%
V]

b) What percent of $500 is $100?

c) 6 ladders is what percent of 1200 ladders?

d)\What percenw
Xe 3N = g‘\g);s 130
363 3ah W

Xz \'50 l

CAUTION!!!
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You 'I:ry! Find the missing piece part=perent whoe

(a) 15% of 880 policyholders \ 3L policy holders

(b) 34 post office boxes is 40 .
what percent of -
85 post office boxes?
(c) 666 inoculations 1s 45% \ AVYQ inpCvlations

of what number of
inoculations?
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